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What is the resistance between A and B in
Figure 5.26?
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10.0 Q 20.0 fj ’I .—EJ/T—_’\
10.0Q

A i - = lDﬂ+ZDQ+ZoSI
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Each resistor in Figure 5.27 has a value of
6.0 . Calculate the resistance of the

combination
|
I _!_ 1\~ { -
%(6* i) (it ‘j |
| :1;*
Figure 5.27 For question 3. 2Q,L’_ ZQ

400

You are given one hundred 12 resistors. What
is the smallest and largest resistance you can
make in a circuit using these?

e l N resist of ¢

Sefies Cirewi (CSistuce(HEIH -......0)




A wire that has resistance R is cut into two
equal pieces. The two parts are joined in
parallel. What is the resistance of the L
combination? ‘ﬁ-

(/R R’)lﬁ::
keg) \/ﬁw& o

{ﬂ 2 eq’\/f«l rurk

Ny-)-T-‘ ‘ Fﬁ_

1
across, each resistor in the circuits shown in

SN Myahly g arcim

Find the current in, and potential difference { ,
VIT[R

I

AV"Z ril;)\f / AV2= _Rl qQV ﬂZ_& IO‘!._Q
o woal] eV "y lazv].46 [2000
— ' 370
@Fﬂd Ry (equivalént resistance) ji*__uhi_lv |4
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Find the current in, and potential difference —

across, each resistor in the circuits shown in V } 2

Figure 5.28. N f
=60V R| '- DA ?.DQ
r=2.00Q e SA l[-O_O_

= 400 400 [ "
oo LA (o) SR [400
).DA [2.0Q

_ 7 - i
k=20 e B/c Ra§ Raare Jotdl COV| 1.0A (oO,Ql

Rr=Ri*RutRe inpusaliel Vy=vg

Ry =600\ So V= VT“V.'V -IE\T;:‘E ;34 bie RsRy ane
IT'=1 :'3/.0V 'V—I Rl =2.0V

Tr= Yo GOV, | “T2=32: 5o Viy=TyRy= 2.0V

Find the current in each of the resistors in the
circuit shown in Figure 5.29. What is the total
power dissipated in the circuit?

o P =P
60.0Q2 57.0Q

[ 4000 200Q

g T g T

e=120Vv—1—
r=3.0Q 60.0Q

Rr=60.0+57.0 + (1/60.0 + 1/(40.0 + 20.0))" + 3.0
R+ =150 ohms

P=(V?)/R =(12.0 V)?/(150 ohms) = 0.96 W




